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1. For a given long column subjected to load, product of failure stress and slenderness
ratio will be

(1) Constant
(2) Variable — depending on support condition
(3) Variable — depending on value of lead

(4) Variable — depending on len:g'th of column

2, A mild steel rod of area 3140 mm?2 is fixed at one end and the other end pulls
~ gradually till it reaches 628 kN force in axial direction. If the force is removed at this
stage, then

(1) the rod regains its original shape and size
(2) the rod regains its original shape but not the size
(3) the rod shows neck formation at centre

(4) the rod neither regains its original shape nor the size

3. When a shaft of diameter D is subjected to a twisting moment T and a bending
moment M, then the maximum normal stress is given by

16 2 2 - 16 2 2
® 2 2 @ M2 -T2

T D3
16 ) 16 ' 2 M2 |
® —o [M—,/M T ] @ o M+ MZ4T
nD D
4, A cantilever beam AB of span 5 m is fixed at end A while force at end B is subjected

to a point load of 20 kN at 2 m from end A. What is the value of shear force and
bending moment at 3 m from end A ?

(1) 20kN,60 kNm (2) 20kN, 40 kNm
(3) 20kN,0 4 0,0
5. As per middle third rule, the eccentricity ‘e’ in a rectangular section should be
- . (Where, b is the width at the base)
(1) <b2 (2) <b/3
(8) <2b/3 (4) <b/6

Foeq] FHTIS) SR / SPACE FOR ROUGH WORK ' P.T.O.
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6. for buckling of column gives fairly correct result for all cases of
columns ranging from short to long columns.

(1) Euler’s formula
(2) Rankine’s formula
(3) Mohr’s formula

4) Coulomb’s formula

7. A cantilever beam AB as shown in the figure is subjected to uniformly distributed
load (W) kN/m over a length of ‘b’ m from the free end B, then what is the bending
moment at fixed end A ?

r\r\r\/\r\mf\/\m
Al ' ' B

1 C
X a # b +
# ! —F
(1) Wb@a+2) @ wplrd
2 : 2
! | b
3) W.hb(=) (4) Wa(a+ =)
2 2
8. Calculate the torque which a shaft of 3 cm diameter can safely transmit, if the shear
stress is 48 N/cm?2. : ‘
(1) 1-27n N.cm ’ (2) 8l1n N.cm
,(3) 54n N.cm (4) 48n N.cm

9. The angle of twist of a shaft can be written as
(Where J — Polar MI,

G - Torsional Rigidity

L — Length

T — Torque)
1) T.LAJ (2) GJ/MT.L
(3) TL/GJ 4 TA
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10. The loading and unloading response of a metal is shown in the figure, The elastic
and plastic strain corresponding to 200 MPa stress, respectively are

Stress a
)
MPa
200 — - -

0-01 003  StrainE

(1) 0-02 and 0:01
(2) 0-02 and 0-02
(3) 0-01 and 0-01

(4) 0-01 and 0-02

11.  An SS beam AB of span ‘L’ is subjected to uniformly varying load of zero at end B to
W kN/m at end A as shown in the figure, then what is the position of zero shear force
from support B ?

W kN/m

l 2l
1) 72 (2) 7
' © 3l l
(3) E (4) —E
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12. Fixed end moments for the beam as shown in the figure are (anticlockwise moments

are positive)
W kN/m

7 1 R

wiZ2 Wi 3WIZ  3WIZ
(1) , - (2) , -

30 20 96 96
@) 5WI2  5WI2 @ 5WI12 B 5WIZ2

48 ’ 48 96 '’ 96

13.  The kinematic indeterminacy of the plane truss shown in the figure is

1 11 (2) 8 3 3 4 0

14. A cantilever of length / has flexural rigidity EI for half span and EI/2 for rest. The
beam carries moment M at the free end. The slope at the free end is given by

M! M1?
O F @ Fr

2 M1 3 Ml
® 3 EI @) 9 EI

15.  The relative stiffness of a member at a joint whose farther end is hinged or simply

supported is
31 : - 41
1) — 2) =
(1) 1 (2) 3l
l
3) = d
(3) I ) (4) ]
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16. In the moment area method, the change of slope between any two sections of a
loaded flexural member is equal to the

(1) Area of the % diagram between these two sections

(2) Moment of the El diagram between these two sections
1 M .. .

3 ) x Area of the El diagram between these two sections

(4) % x Moment of the 1—1;% diagram between these two sections

17.  Pick up the correct statement.

(a) In the frame analysis, using unit load method, the directions of deflection and
rotation components are the same as, or the opposite to that of the unit load or
the unit moment, depending on whether the answer obtained is positive or
negative.

(b) Since the axial deformation of the members in a rigid frame owing to the direct
axial stresses in them is always small, it can be neglected.

Answer options :

(1) Both (a) and (b) are correct
(2) Both (a) and (b) are incorrect
(8) (a)is correct; (b) is incotrect

(4) (a)is incorrect; (b) is correct

18. Pick up the correct methods that cbrrespond to displacement method.
(a) Stiffness matrix method
(b) Flexibility matrix method
(¢) Slope-deflection method
(d) Method of consistent deformation
Answer options:
(1) (a)and (b) (2) (a)and(c)
(3) (b)and (o) (4) (a)and(d)

FHoAT TS ST / SPACE FOR ROUGH WORK P.T.O.
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19.  Pick up the correct statement with respect to slope-deflection method.
(a) In this method all joints are considered as rigid.
(b) In this method, the angles between members at the joints are considered not to
change in value as loads are applied.
Answer options :
(1) Both (a) and (b) are correct
(2) Both (a) and (b) are incorrect
(3) (a)is correct; (b) is incorrect
(4) (a)is incorrect; (b) is correct
20. Choose the correct slope-deflection equation for member AB in the beam as shown in
the figure. Take anticlockwise moment to be positive.
: 20 kN/m
AY B
/ o :
(1) Map =60 + EIAg /6; Mgy = — 60 + EIAg /6
(2) Mg =60-EIAg /6; Mps =—60—EIAg /6
(3) MAB =60 + QEIGB 5 MBA =—-60+ 2EIGB
(4) MAB = 60 — ZEIGB M MBA =— 60 - 2EIGB
21.  Whenever one of the supports of a beam is at a lower level as compared to the other,
it will cause a moment at both ends
4EI0 6EIA 12EI
1 £ @ =B @ =2 @ 2
. L L L2 L3
22, The maximum deflection of a cantilever.of 10 m span, an EI = 200-0 MN/m?

subjected to a distributed load of 8:0 kN/m is
(1) 20 mm (2) 50 mm
(3) 225 mm (4) 500 mm

TN HATHIS! STRT / SPACE FOR ROUGH WORK
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For a two-hinged arch, if one of the supports settles down vertically, then the
horizontal thrust

(1) is decreased .
(2) 1is increased
(3) becomes zero

(4) remains unchanged

24.

A suspension cable, having supports at the same level, has a span of 30 m and a
maximum dip of 3 m. The cable is loaded with a uniformly distributed load of
10 kN/m throughout its length. Find the Horizontal Pull in the cable.

(1) 375kN
(2) 275kN
(3) 475kN
(4) 140kN

25.

Match the following :
Cable subjected to Shape of Cable
(a) Single concentrated point load (i) Triangular
(b) Uniform load/horizontal length (ii)) Parabola
(¢) Uniform load along its length (1i1) Catenar:v

Answer options :

@ () ()
1 G ) @)
@ @ G G
(3) Gi) (i) @)
@ @ i) (ii)

26.

A parabolic three-pinned arch has a span of 20 m and central rise 4 m. It is loaded
with a uniformly distributed load of 20 kN/m for a length of 8 m from the left end
support. Find the horizontal thrust at supports.

(1) 48kN (2) 8kN (3) 80KkN (4) 98kN

FoegT PHNITS! TR / SPACE FOR ROUGH WORK ' P.T.O.
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27. Influence line diagram (ILD) for the shear force at the support of the cantilever
beam is

21 “ b
/ :

Answer options :

A
| A

A B

B

(3

A B

28. A three-hinged parabolic arch of span 20 m has a central rise of 5 m. Find the rise of
the arch crown, if the temperature rises through 30°C. Take coefficient of linear
expansion for the arch material as 12 x 1076 per °C.

(1) 28 mm (2) 81 mm (3) 58 mm (4) 18 mm

29. The order of flexibility matrix of a structure is
(1) Equal to the number of redundant forces
(2) More than the number of redundant forces
(3) Less than the number of redundant forces

(4) Equal to the number of redundant forces plus three

30. A uniformly distributed load of 50 kN/m longer than span, rolls over a beam of 25 m
span. Using Influence lines, determine the maximum shear force.

(1) 125kN (2) 225 kN (3) 260 kN (4) 525kN
FoTT HHTHIS! ST / SPACE FOR ROUGH WORK
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A three-hinged parabolic arch of span 20 m and rise 4 m carries uniformly

31.
distributed load of 20 kN/m on the entire span. What will be the horizontal thrust H
at the support ?
(1) 500kN (2) 250 kN (3) 125kN (4) 200kN
82. A simply supported beam has a spari of 20 m. A uniformly distributed load of
20 kN/m and 5 meters long crosses the span. Find maximum bending moment.
(1) 520 kN.m (2) 320 kN.m (3) 420 kN.m (4) 240 kN.m
33.  When a rolling train is moving on a girder, then absolute maximum bending moment
will be obtained when
(1) maximum load is placed on the middle of the girder.
(2) maximum load is placed such that middle of girder is equidistant from
. maximum load and resultant load.
(3) resultant load is placed on the middle of the girder and other loads are placed
accordingly.
(4) maximum load is placed on the middle of the girder and other loads are placed
accordingly. ’
34.  “A steel section in which all fibers are stressed to yield stress at failure.”
The above statement is true for
(1) plastic and compact sections
(2) compact section only
(3) semi-compact section only
(4) plastic section only
35. As per IS-800 : 2007, the factored design moment ‘M’, at any section, in a beam due
to external actions, shall satisfy
(1) M<Md (2) M=>Md 3) M=2Md 4 2M=Md
36. The partial safety factor for the material of bolts is

1 10 (2) 110 (3 115 4) 125

FHoeYT HHRITS! ST / SPACE FOR ROUGH WORK P.T.O.
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37.  Pick up the correct statement that corresponds to welded connection.

(a) The effective throat thickness of a complete penetration butt weld shall be
taken as the thickness of the thinner part joined. ’

(b) The effective throat thickness of a complete penetration butt weld shall be
taken as minimum thickness of the weld metal common to the parts joined
excluding reinforcement.

Answer options :

(1) Both (a) and (b) are correct

(2) (a)is correct and (b) is incorrect
3 (a) is incorrect and (b) is correct

(4) Both (a) and (b) are incorrect

38.  As per IS-800, the thickness of lacing flat fof a single lacing system should not be
less than the effective length of lacing multiplied by

1 1 1 { 1
1) — 2) — 3) ——= 4) —
@ 40 @ 50 ® 60 @ 45

39. While designing the roof trusses, generally the following type of load is not
considered as per IS-875 :

(1) Dead load (2) Wind load
(3) Snow load . (4) Moving load

40.  Which are the possible failure modes of axially loaded columns ?
(a) Local buckling |
(b) Overall ﬂéxural buckling
(c) Torsional buckling
(d) Flexural-torsional buckling
Answer options :
1) (), (b) and (c) _ (2) (b),(c)and (d)
(3) All of the above (4) (a), (c) and (d)

Foey] BHTEIS! ST / SPACE FOR ROUGH WORK
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While designing the butt welds, which of the following conditions is most appropriate
for tapering ?
(1) Difference in thickness of parts exceeds 50% of the thickness of thinner plate or
6 mm.
(2) Difference in thickness of parts exceeds 75% of the thickness of thinner plate or
9 mm.
(3) Difference in thickness of parts exceeds 25% of the thickness of thinner plate or
3 mm. '
(4) None of the above
42.  According to IS-800 : 2007, the design strength of tension members under axial
tension as governed by yielding of gross section is given by
Ay Ymo. f
- 8 'mo = y
(1) Tgg= £ (2) Tyg= A
y ‘ g
Ag .fy
(3) ng = (4) ng = Ag.’YmO.fy
mo
43. The deflection at a node of pin-jointed truss using strain-energy method is given by
(1) &= TP2UL/AE (2) 8= LPUL/AE
(3) 8= LPUL?/AE 4) &= LPUL/AE?
44.  According to IS-800 : 2007, the maximum effective slenderness ratio for compression
flange of a beam against lateral torsional buckling is .
(1) 150 (2) 180 3 250 (4 300
45. The maximum strain in concrete at the outermost compression fibre is taken as
in bending.
(1) 0-3500 (2) 0:0350 (3) 0-0035 (4) 0-00035
46. The minimum area of tension reinforcement shall not be less than of
effective cross-section area of beam (i.e. bd), for Fe 500 grade of steel. is used as
reinforcement.
(1) 012% (2 015% - @) 017% (4) 020%
47. Design bond stress for M20 grade concrete in limit state method for plain bars in

tension shall be N/mm?2. .
1) 14 2 12 3 16 4 18

Hoeal HHTITS! SIF / SPACE FOR ROUGH WORK P.T.O.
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When the lever arm of a reinforced concrete beam is Z and width of beam is b, then
the maximum shear stress in a beam subjected to shear force F will be equal to

1 b @ X @ 2

= (4) F.Z.b
Z b.Z b

49.

~ According to IS-456 : 2000, the area of tension reinforcement should not be less than

for slab with HYSD bars.
(1) 0-12% of Ag : (2) 0'15% of Ag
(3) 0-18% of Ag (4) 020% of Ag

50.

What is the effective depth of slab of size 4-5 m x 6 m if modification factor is 1-5 and
live load on slab is 4:0 kN/m?2 ? Assume all edges of the slab are discontinuous.

(1) 100 mm (2) 115 mm (3) 125 mm (4) 150 mm

51.

Recommended value of effective length of compression member, which is “effectively
held in position and restrained against rotation at both ends” is »

(1) 10L (2) 075L 3) 12L (4 065L

52.

For design purposes, the compressive strength of concrete in the structure shall be
assumed to be times the characteristic strength of concrete for design of
flexure member using limit state method.

(1) 050 (2) 067 (3) 087 (4) 150

53.

As per IS-456 : 2000, the ratio of the ultimate load carrying capacity of helically
reinforced column to that of similar member with lateral tiles or rings is
(1) 110 (2) 1-05 © @) 100 (4) 120

54.

The lever arm in a singly reinforced beam is equal to
(Where d = Distance between the top.of beam and the centre of steel bars

n = Depth of neutral axis below the top of beam)

d-n @ 2d —n 3) 3d—n @ 4d - n

1
v 3 3 3 3

55.

A rectangular water tank is designed for total height of 3-3 m and bottom area of
tank is 50 m?2 with L/B ratio of 2. If the free board is considered as 0-30 m above
water level, then for what capacity is water tank to be designed ?

(1) 1,65,000 liters
(2) 1,80,000 liters
(3) 1,25,000 liters
(4) 1,50,000 liters

FHET HHENTSE SR / SPACE FOR ROUGH WORK
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56. Pick up the correct statement with respect to tendon proﬁle
(a) In general, moments resulting from prestressing should vary in the same way
as those moments due to the applied load and act in the opposite sense.
(b) The tendon profiles used for continuous spans are closely related to variation of
bending moment due to the dead and live loads.
Answer options :
(1) Both (a) and (b) are correct
(2) Both (a) and (b) are incorrect
(3) .(a)is correct and (b) is incorrect
(4) (a)isincorrect and (b) is correct
517. and ﬂexura.l rigidity are two fundamental propertles by which short term
deflections are determined.
(1) Shear force (2) Bending moment
(3) Torsional force - (4) Twisting moment
58. In pre-tensioned work, the cover of concrete measured from the outside of the
prestressing tendon shall be at least :
(1) 20 mm (2) 30 mm (3) 40 mm (4) 50 mm
59.  Pick up the correct statement with respect to losses in prestress.
(a) The total residual shrinkage strain.is larger in pre-tensioned members after
transfer of prestress in comparison with post-tensioned members.
(b) There will be no loss due to elastic deformation of concrete under simultaneous
tensioning and anchoring.
Answer options :
(1) Both (a) and (b) are correct
(2) Both (a) and (b) are incorrect
(3) (a)1is correct; (b) is incorrect
(4) (a)isincorrect; (b) is correct
60. The distance required at the end of a pre-tensioned tendon for developing the

maximum tendon stress by bond is known as
(1) Anchorage length (2) Development length
(3) Transmission length (4) Bearing length

FHoCqT BITATS! AR / SPACE FOR ROUGH WORK P.T.O.
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61. What is the definition of anchorage in the case of post-tensioning ?
(1) A device used to anchor the tendon to the concrete member
(2) A device used to anchor the tendon during hardening of concrete
(8) A device used to transfer the stress
(4) A device used to stress the cables
62.  The loss of prestress is due to ereep of concrete obtained as the product of of
the prestressing steel and the ultimate creep strain of concrete fibre.
(1) Modulus of Elasticity (2) Shear modulus
(3) Bulk modulus (4) None of the above
63. Due to which reasons is high-strength concrete necessary in prestressed concrete ?
(1) To design commercial anchorage for prestressing steel
(2) High-strength concrete is less liable to shrinkage cracks
(3) High-strength concrete offers high resistance in tension and shear, as well as '
in bond and bearing
(4) All of the above
64. A loss of prestress will affect the distribution on the section of the
member. ‘
(1) Strain (2) Stress - (3) Shear (4) Bending
85. Which of the following systems is used for pre-tensioning ?
- (1) Magnel Balton System (2) Freyssinet System
(3) Gifford Udall System (4) Hoyer’s Long Line Method
66. What will be the loss of stress due to anchorage slip in a post-tensioned beam, if ‘A’

is the cross-section area of section, E; = Modulus of elasticity of steel, E, = Modulus
of elasticity of concrete, A = Slip of anchorage, P = Prestressing force and L = Length
of cables ?

PL ; AE
3) AE, @ 2
LE, | ‘ L
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67. Match soil type and method giving highest degree of compaction, and select the
correct answer using the options given below :
Soil type Method of Compaction
(a) Sand (i)  Kneading
(b) Silt (i) Vibration
(¢) Confined clay (iii) Imgpact
Answer options :
(@ (b (c)
1 G @ (iii)
2 o (ii) (iii)
(3 Gi) Gi) (1)
4) @ (iii) (ii)
68. The inventory control mechanism in ABC analysis is based on
(1) Value of consumption (2) Movement from store
(3) Necessity (4) None of the above
69.  While designing structural elements for safety against fire, the fire resistance rating
of these elements should be as per Codal provisions in
(1) 1S-641:1988 (2) 1S-646:1982
(8) 1S-1435:1977 (4) 1S-1642 : 1989
70. The time period available, if succeeding activity starts as early as possible and
preceding activity ends as ]ate as possible, is called as
(1) Free Float " (2 Total Float
(3) Independent Float (4) Interfering Float
71. Safety measures to be adopted at the time of excavation should adhere to Codal

provisions as per
(1) IS-3764:1972 (2) 1IS-4130:1991
(3) IS-1256:1958 (4) - IS-800: 1958
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72. 1t is observed that the project duration is lengthened for increase in critical activity
duration and vice versa. These activities are called as
(1) Neutral Critical Activities
(2) Reverse Critical Activities
(3) Normal Critical Activities
(4) Proportional Critical Activities
73.  An activity in the PERT network has tj = 1, t;; = 4 and t; = 7. How much will be
expected duration of the activity ?
1 5 (2 4 3 12 (4) 3

74.  Which of the following are applicable to ladder networks ?
(a) These are more or less extensions of the arrow networks.
(b) These are useful for repetitive works.
(¢) There are no dummy activities at all in such networks.
Answer options : ’
(1) Only (b) (2 Only (a) and (b)

(3) All of the above (4) Only (b) and (c)

75. The process in which the highest value EET (Earliest Event Time) is determined by
adding activity duration to the EETs of the preceding event is called as

(1) Pass (2) Backward Pass
(3) Forward Pass (4) Critical Pass

76. Which of the following remarks is/are applicable to the bottom-slewing tower
cranes ? ' .

(a) They have height limitations
(b) They can be erected and dismantled quickly
(¢) They are suitable for high rise construction
(d) Anchoring the crane with some fixed support is not possible
Answer options :
(1) Only (a), (b) and (d)
(2) Only (b) and (¢)
(3) All of the above
(4) Only (¢)
Feeg] HHTEIS! ST / SPACE FOR ROUGH WORK
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77. The first and most important step in computing critical path in PERT network is to
(1) Reduce three-time probabilistic network into a single time deterministic model.
(2) Convert three-time activity durations estimate into single event estimate.
(3) Analysing one-time estimate with the three-time event estimates.
(4) Convert uncertainties in events into activity certainties.
78. The FEM can be directly created from the _ .
(1) Good model (2) Bad model
(3) CAD model (4) Excellent model
79. If ox)=x- ;—((}% , then the condition for convergence of Newton-Raphson method is
X
1 x>1 (2 x)<1
3 <1 ' 4) odx>1
80. How will you improve the accuracy of the trapezoidal rule ?
Consider the following statements for the answer :
(a) The integration interval shall be divided into a number of segments.
(b) The composite trapezoidal rule shall be used.
(¢) The accuracy of the rule cannot be increased.
Which of the above statements is/are correct ?
(1) Only(e) (2) Only (a) and (b)
(8) Only(a) (4) Only®)
81.

Apply Gauss-Jordan method to solve the following equations :
X+y+z=9 . |

2x -3y +4z=13

3x +4y + 5z =40

1) x=1,y=2 2z=3 (2 x=8,y=2,z=1
3 x=1y=38,z=5 4 x=2 y=1,2z=3
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The bisection method is also known as
(1). Binary chopping

(2) Quaternary chopping

(8) Tri-region chopping

(4) Hex region chopping

83.

The curve in a Simpson’s rule passing through the coordinates of a parabola has a
polynomial of

(1) First order (2) Second order

-(8) Third order (4) Fourth order

84.

Gauss-Seidal method is being used to solve the following system of equations :
3x; - 0-1x9 — 0-2x3 = 7-85

0-1xq + Txg — Q-3x3 =-19-3

0-3x; — 0-2x9 + 10x3 = 71°4

2

In the first step x5 and xg are set to zero. So what will be approximate estimate of ‘x;

~ in the first step ?

(1) 2:616667 (2) -193-00
(3) 23800 : (4) -2-794524

85.

Which of the following indicates the formula for Simpson’s rule ?

1) A= %x[(00+0n)+4x(01+03+ ..... )+2x (0,40, +.....)]
i t
@) a= 3 x [(Og+0p)+2x (0; +0g5+....)+ 2x (0, + O, + .....)]
@ A= %X[M+4x(ol+o3+ ..... M 2x (0y+0, + .....)]
4) A= d x [(Og+0p)+2x (0, -0, +...)+4x (O, +O, + .....)]
= 3 0 n 1 gt e .X 9 4T e
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86. Which of the following is/are the technique/s for improving solutions as regards to
the Gauss Elimination Method ?

(a) Use of more significant figures
(b) Pivoting if necessary

(¢) Scaling if necess;iry

Answer options :

(1) Only(a)

(2) Only (¢)

(3) All of the above

(4) None of the above

87.  The procedure adopted in the Gauss-Jordan method in solving linear simultaneous
equations is '

(1) It is required to assume initial approximate values of the variables.
(2) It reduces the given system of equations to a diagonal matrix.
(3) Tt reduces the given system of equations to an equivalent triangular matrix.

(4) The given matrix is factored into lower and upper triangular matrices.

88. The reasons that the Gauss Elimination technique is called “naive” are listed below.
Which of the following is/are correct ?

(a) “ﬁivision by zero” can occur during elimination.

(b) “Division by zero” can occur during back-substitution.

(¢) The technique cannot be employed to transcedental equations.
Answer options :

(1) Only(¢)

(2) Only (b) and (c)

(3) Only (a)and (b)

(4) All of the above
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89. Which stones are considered unsuitable for construction ?
(1) Stones having specific gravity less than 2-5
(2) Stones having specific gravity greater than 2-5
(3) Stones having specific gravity in between 5:0 and 7-0
(4) Stones having specific gravity in between 3-5 and 4-5
90. Which part of National Building Code issued by BIS is for Fire Safety ?
(1) Partl (2) PartIIl (3) PartIV (4) Partll
91. The properties of ideal fire-resisting materials are
(a) It should not get disintegrated due to heat.
(b) It should not expand excessively due to heat.
(¢) It should contract rapidly on cooling.
Which of the above statements is/are correct ?
(1) Only (a) and (b) (2) Only (b)
(3) All of the above (4) None of the above
92,  As per IS-10262 : 2009, how much should the target strength of concrete be ?
(1) Characteristic Compressive Strength + 1-2 times Standard deviation
(2) Characteristic Compressive Strength + 1-75 times Standard deviation
(8) Characteristic Compressive Strength + 1-65 times Standard deviation
(4) Characteristic Compressive Strength + 1:80 times Standard deviation
93. The total area of mezzanine floor in a building should not exceed
generally as per building bye laws.
(D % of the plot area
1 .
(2) 3 of the plinth area
1
(3) ) of the plot area
1 .
4 3 of the plinth area
94.  Which of the following is not the type of formwork used for concreting ?

(1) Standard (2) Universal
(3) Elementary (4) Special
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Which range of slump (in mm) shall be adopted for vibrated concrete ?
(1) 12to25 _ (2) 50 to 100
(3) 5to10 (4 25to50

96.

A base in an oil paint performs functions such as

(a) Gives opacity to the paint.

(b) Increases resistance to abrasion.

(¢) Prevents formation of shrinkage cracks.

Which of the above function/s is/are correct ?.

(1) All of the above | (2) Only (a)
(3) ‘Only (a) and (c) (4) Only (b)

97.

The ashlar masonry in which the exposed edges of stones are bevelled off at an angle
of 45° is called

(1) Ashlar fine masonry
(2) Ashlar rough tooled masonry
(3) Ashlar quarry faced masonry

(4) Ashlar chamfered masonry

98.

Portland Cement is produced by burning ingredients at what temperature ?
(1) 250°C

(2) 458°C

(3) 2300°C

(4) 1450°C

99.

A RCC beam spans for 7-5 m. When will you allow removal of props for the same ?
(1) Any time after 7 days

(2) Any time after 14 days

(3) Any time after 21 days

(4) Any time after 3 days

100.

Which IS code has classified the bricks according to their compressive strength ?
(1) IS-762:1998 _ (2) IS-10262:2000
(3) IS-1077:1992 (4) 1S-456:1978
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Pick out the correct word to fill in the blank :
Q. No. 201. I congratulate you your grand success.
: (1) for - (2) at
(3) on (4) about
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